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Notation
N natural numbers {0, 1, ...}
N4 positive natural numbers {1,2,...}
N NU {oo}
7 integers
Z Z U {—o00,00}
Q rational numbers
R real numbers
R extended real numbers [—o00, 00|
C complex numbers
B(E) Borel-o-algebra on a topological space E
14 indicator function of the set A
ACB A is a subset of B, which may be equal to B
A° complement of A
A\B set difference
A closure of A
int(A) interior of A
(Q,F,P) underlying probability space
w typical element of {2
E expectation with respect to P
o(...) o-field generated by sets or random variables
<Ly 1 is absolutely continuous w.r.t. v
Ifle  supremumnorm | |l == sup, | f(2)
fe~gr  lmfi/g =1
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Chapter 0

Preliminaries

0.1 Stochastic processes

Let I be a (possibly infinite) interval in Z. By definition, a stochastic process
with discrete time is a collection of random variables X = (Xj)res, defined on
some underlying probability space (€2, F,P) and taking values in some measurable
space (E,E). We call the random function

I>k— Xi(w)eE

the sample path of the process X. The sample path of a discrete-time stochastic
process is in fact itself a random variable X = (X})xes, taking values in the product
space (E!, ET), where

E' = {2 = (2p)per : 21 € EVE € I}

is the space of all functions x : I — E and &' denotes the product-o-field. It
is well-known that a probability law on (B!, &) is uniquely characterized by its
finite-dimensional marginals, i.e., even if [ is infinite, the law of the sample path
X is uniquely determined by the finite dimensional distributions

P[(Xk,.... Xksn) €]  ({k,....k+n} CI).

of the process. Conversely, if (E, &) is a Polish space equipped with its Borel-o-
field, then by the Daniell-Kolmogorov extension theorem, any consistent collection
of probability measures on the finite-dimensional product spaces (E”,£”), with
J C I a finite interval, uniquely defines a probability measure on (EZ, ET). Polish

7



8 CHAPTER 0. PRELIMINARIES

spaces include many of the most commonly used spaces, such as countable spaces
equipped with the discrete topology, R?, separable Banach spaces, and much more.
Moreover, open or closed subsets of Polish spaces are Polish, as are countable
carthesian products of Polish spaces, equipped with the product topology.

0.2 Filtrations and stopping times

As before, let I be an interval in Z. A discrete filtration is a collection of o-fields
(Fr)ker such that Fp C Fpyq for all k,k+1 € 1. If X = (Xj)ges is a stochastic
process, then

f,g(:za({Xj:jEI,jgk}) (kel)

is a filtration, called the filtration generated by X. For any filtration (Fy)ges, we

set
Foo = a( U fk).

kel
In particular, FX = o((Xy)rer)-

A stochastic process X = (Xy)res is adapted to a filtration (Fy)per if Xy is Fp-
measurable for each k € I. Then (F{¥)ies is the smallest filtration that X is
adapted to, and X is adapted to a filtration (Fy,)xes if and only if FX C F, for all
kel

Let (Fy)rer be a filtration. An Fy- stopping time is a function 7 : Q@ — I U {oc}
such that the {0, 1}-valued process k — 1.<jy is Fip-adapted. Obviously, this is
equivalent to the statement that

{Tﬁk}@fk (kEI)

If (Xy)ger is an E-valued stochastic process and A C E is measurable, then the
first entrance time of X into A

TAZ:inf{/{iGIZXkEA}

with inf ) := oo is an F{*-stopping time. More generally, the same is true for the
first entrance time of X into A after o

Toa:=inf{k el : k>0 X;ecA}

where o is an Fi-stopping time. Deterministic times are stopping times (w.r.t.
any filtration). Moreover, if o, 7 are Fi-stopping times, then also

oVT, ONT



0.3. MARTINGALES 9

are Fi-stopping times. If f: I U {oo} — I U{oo} is measurable and f(k) > k for
all k € I, and 7 is an Fy-stopping time, then also f(7) is an Fy-stopping time.

If X = (Xy)kers is an Fp-adapted stochastic process and 7 is an Fi-stopping time,
then the stopped process

w = Xjpar(w) (W) (kel)

is also an Fj-adapted stochastic process. If 7 < oo a.s., then moreover w —
X+ (w)(w) is a random variable. If 7 is an Fj-stopping time defined on some filtered

probability space (2, F, (Fi)rer, P) (with Fr, C F for all k € I), then the o-field of
events observable before T is defined as

Fri={AeFu:An{r <k} e F,Vkel}.

Exercise 0.1 If (Fj)kes is a filtration and o, 7 are Fy-stopping times, then show
that fo‘/\T :fg/\f:r.

Exercise 0.2 Let (Fy)rer be a filtration, let X = (Xj)rer be an Fi-adapted
stochastic process and let 7 be an F;X-stopping time. Let Y := Xy, denote the
stopped process Show that the filtration generated by Y is given by

F=F). (k€ TU{oo}).
In particular, since this formula holds also for k = oo, one has
FX = o ((Xpnr)rer),

i.e., FX is the o-algebra generated by the stopped process.

0.3 Martingales

By definition, a real stochastic process M = (My)rer, where I C Z is an interval,
is an Fy-submartingale with respect to some filtration (Fy)res if M is Fr-adapted,
E[|My|] < oo for all k € I, and

EMei|Fl > M, ({kk+1} C ). (0.1)

We say that M is a supermartingale if the reverse inequality holds, i.e., if —M
is a submartingale, and a martingale if equality holds in (0.1)), i.e., M is both a
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submartingale and a supermartingale. By induction, it is easy to show that (0.1))
holds more generally when k,k + 1 are replaced by more general times k,m € [
with £ < m.

If M is an Fi-submartingale and (F},)k>0 is a smaller filtration (i.e., F; C Fy, for
all k € I) that M is also adapted to, then

E[My11|F;) = E[E[Myn | Fil|F) = BIMy|Fy) = My ({k,k+ 1} C ),

which shows that M is also an Fj-submartingale. In particular, a stochastic pro-
cess M is a submartingale with respect to some filtration if and only if it is a
submartingale with respect to its own filtration (F})xer. In this case, we simply
say that M is a submartingale (resp. supermartingale, martingale).

Let (Fk)ker be a filtration and let (Fi_1)res be the filtration shifted one step to
left, where we set Fj,_; = {0,Q} if k — 1 ¢ I. Let X = (Xj)resr be a real Fy-
adapted stochastic process such that E[|X|] < oo for all k& € I. By definition,
a compensator of X w.r.t. the filtration (Fy)res is an Fj_j-adapted real process
K = (Kk)ke[ such that EHK/‘?H < oo for all £k € I and (Xk — Kk)ke[ is an Fp-
martingale. It is not hard to show that K is a compensator if and only if K is
Fi—1-adapted, E[|K|] < oo for all k& € I and

Kiy1 — K =E[Xp | F] - X ({kk+1} C ).

It follows that any two compensators must be equal up to an additive (),c; Fr—1-
measurable random constant. In particular, if I = N, then because of the way
we have defined F_;, such a constant must be deterministic. In this case, it is
customary to put Ky := 0, i.e., we call

n

K, =Y (E[Xi|Fici] = Xim1) (0 20)

the (unique) compensator of X with respect to the filtration (Fj)gen. We note
that X is a submartingale if and only if its compensator is a.s. nondecreasing.

The proof of the following basic fact can be found in, e.g., [Lach12, Thm 2.4].
Proposition 0.3 (Optional stopping) Let I C Z be an interval, (F)rer @

filtration, let T be an Fy-stopping time and let (My)ger be an Fy-submartingale.
Then the stopped process (Mp:)rer is an Fr-submartingale.

The following proposition is a special case of [Lachl2l Prop. 2.1].
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Proposition 0.4 (Conditioning on events up to a stopping time) Let [ C Z
be an interval, (Fy)rer a filtration, let T be an Fi-stopping time and let (Mp)rer
be an Fy.-submartingale. Then

E [ M, | Finr] = Mins (kel).

0.4 Martingale convergence

If 7, F, (k> 0) are o-fields, then we say that F, T F if F, C Fryq (kK > 0) and
F = 0(Ugso Fr). Note that this is the same as saying that (Fj)i>o is a filtration
and F = F,,, as we have defined it above. Similarly, if 7, F, (k > 0) are o-fields,
then we say that Fj, | F if F D Fiy1 (K> 0) and F = (50 Fk-

Exercise 0.5 Let (Fy)ren be a filtration and let 7 be an Fy-stopping time. Show
that
Firne TFr as kT oo.

The following proposition says that conditional expectations are continuous w.r.t.
convergence of o-fields. A proof can be found in, e.g., [Lach12), Prop. 4.12], [Chu74,
Thm 9.4.8] or [Bil&6, Thms 3.5.5 and 3.5.7].

Proposition 0.6 (Continuity in o-field) Let X be a real random variable de-
fined on a probability space (Q, F,P) and let Foo, F C F (k > 0) be o-fields.
Assume that E[| X|] < oo and Fy, | Foo or F | Foo. Then

E[X | F P~ E[X | Fuol a.s. and in L*-norm.

Note that if F, 1 F and E[|X]|] < oo, then M;, := E[X | F;] defines a martin-
gale. Proposition says that such a martingale always converges. Conversely,
we would like to know for which martingales (My)x>o there exists a final element
X such that M, = E[X |F;] . This leads to the problem of martingale conver-
gence. Since each submartingale is the sum of a martingale and a nondecreasing
compensator and since nondecreasing functions always converge, we may more or
less equivalently ask the same question for submartingales. For a proof of the
following fact we refer to, e.g., [Lach12, Thm 4.1].

Proposition 0.7 (Submartingale convergence) Let (My)gen be a submartin-
gale such that sup, 5o E[M} V 0] < co. Then there exists a random variable My,
with E[|My|] < oo such that

M, — M, a.s.

k—oo
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In particular, this implies that nonnegative supermartingales converge almost
surely. The same is not true for nonnegative submartingales: a counterexample is
one-dimensional random walk reflected at the origin.

In general, even if M is a martingale, it need not be true that E[M.| > E[M] (a
counterexample is random walk stopped at the origin). We recall that a collection
of random variables (X )res is uniformly integrable if

lim SUPEUXkHﬂngn}] = 0.

n—oo kEI
Sufﬁcien‘ﬂ for this is that sup,c; E[¢(|Xk|)] < oo, where ¢ : [0,00) — [0,00) is
nonnegative, increasing, convex, and satisfies lim, ., ¥(r)/r = oco. Possible choices
are for example 1 (r) = r? or ¥(r) = (1 +r)log(1 4+ r) — r. Tt is well-known that
uniform integrability and a.s. convergence of a sequence of real random variables

imply convergence in Li-norm. For submartingales, the following result is known
[Lach12, Thm 4.8].

Proposition 0.8 (Final element) In addition to the assumptions of Proposi-
tion[0.7, assume that (My)ren is uniformly integrable. Then

E[| M — My|] . 0 as.
and E[M|Fi] > My, for all k > 0.

Note that in particular, if M is a martingale, then Proposition says that Mj =
E[Mw|Fi|, which shows that all information about the martingale M is hidden in
its final element M.

Combining Propositions [0.8 and we see that if 7 is an Fj-stopping time such
that 7 < 00 a.s., (My)gen is an Fj-submartingale, and (Mya,)ren is uniformly
integrable, then E[M,] = limy_ o E[Mgr,| > M.

There also exist convergence results for ‘backward’ martingales (Mk)ke{,oo,,“,o}.

0.5 Markov chains

Proposition 0.9 (Markov property) Let (E, &) be a measurable space, let I C
Z be an interval and let (Xy)ger be an E-valued stochastic process. For eachn € I,
set I :={kel:k<n}and I} :={kel:k>n}, andlet F; = o((Xp)pes-)
be the filtration generated by X. Then the following conditions are equivalent.

!By the De la Valle-Poussin theorem, this condition is in fact also necessary.
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(i) P[(Xk)kem €A, (Xk)kefi < B{Xn}
=P[(Xi)per= € A| Xo|P[(Xi)per+ € B| Xa] as.
forall A€ &, Be &M nel.
(ii) P[(Xp)per+ € B|FX] =P[(Xp)yers € B| X)) as. for all B€ M nel.

(ili) P[Xp1 € C|FY] =P[Xp1 € C| X, as. forallC €&, {n,n+1} C 1.

Remarks Property (i) says that the past and future are conditionally independent
given the present. Property (ii) says that the future depends on the past only
through the present, i.e., after we condition on the present, conditioning on the
whole past does not give any extra information. Property (iii) says that it suffices
to check (ii) for single time steps.

Proof of Proposition Set G := 0((Xi)per+)- If (i) holds, then, for any
A€ FX and B € G, we have

E[14P[B |X,]] = E[E[14P[B]| X,] | X.]]
= E[E[L4| X,JP[B| X,]] = E[P[A| X,|P[B]| X,,]]
=E[P[ANB|X,]] =P[AN B),

where we have pulled the o(X,,)-measurable random variable P[B | X,,] out of the
conditional expectation. Since this holds for arbitrary A € FX and since P[B |X,,]
is FX-measurable, it follows from the definition of conditional expectations that

P[B|F;] = P[B| X,

which is just another way of writing (ii). Conversely, if (ii) holds, then for any

C e oa(X,),
E[PA|X,JP[B| Xo|lo] = E[P[B| X,]1cE[L4 | X,]]
=E[E[P[B| X,]lcla| X,]] = E[1ancP[B|F]] =P[ANBNC].

Since this holds for any C' € o(X,,), it follows from the definition of conditional
expectations that

PIANB|X,]| =P[A| X,]P[B|X,] as.
To see that (iii) is sufficient for (ii), one first proves by induction that

P[Xps1 € Cry.ooy, Xt € O | FY] = P[Xpi1 € Chyooo, X € O | Xa],
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and then uses that these sort events uniquely determine conditional probabilities
of events in GX. N

If a process X = (Xj)rer satisfies the equivalent conditions of Proposition ,
then we say that X has the Markov property. For processes with countable state
spaces, there is an easier formulation.

Proposition 0.10 (Markov chains) Let I C Z be an interval and let X =
(Xk)ker be a stochastic process taking values in a countable space S. Then X has
the Markov property if and only if for each {k,k+ 1} C I there exists a probability
kernel Py yi1(z,y) on S such that

]P[Xk = Tk, - - - 7Xl€+n = xk—i—n] (0 2)
= P[X) = | P g1 (Th, To1)  ++ Prtn—1.dn (Thtn—1, Thtn) '
forall{k,....;k4+n} CI, xg,...,Tp4n € S.
Proof See, e.g., [LP11, Thm 2.1]. |

If I = N, then Proposition [0.10] shows that the finite dimensional distributions,
and hence the whole law of a Markov chain X are defined by its initial law P[X, €
-] and its transition probabilities Py py1(x,y). If the initial law and transition
probabilities are given, then it is easy to see that the probability laws defined
by are consistent, hence by the Daniell-Kolmogorov extension theorem, there
exists a Markov chain X, unique in distribution, with this initial law and transition
probabilies.

We note that conversely, a Markov chain X determines its transition probabilities
Py ri1(z,y) only for a.e. x € S w.r.t. the law of X. If it is possible to choose
the transition kernels Py ;+1’s in such a way that they do not depend on £, then
we say that the Markov chain is homogeneous. We are usually not interested in
the problem to find P ;41 given X, but typically we start with a given probability
kernel P on S and are interested in all Markov chains that have P as their transition
probability in each time step, and arbitrary initial law. Often, the word Markov
chain is used in this more general sense. Thus, we often speak of ‘the Markov chain
with state space S that jumps from x to y with probability...” without specifying
the initial law. From now on, we use the convention that all Markov chains are
homogeneous, unless explicitly stated otherwise. Moreover, if we don’t mention the
initial law, then we mean the process started in an arbitrary initial law.
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We note from Proposition (i) that the Markov property is symmetric under
time reversal, i.e., if (Xj)res has the Markov property and I’ := {—k : k € I}, then
the process X' = (X} )ker defined by X} := X_; (k € I') also has the Markov
property. It is usually not true, however, that X’ is homogeneous if X is. An
exception are stationary processes, which leads to the useful concept of reversible
laws.

Exercise 0.11 (Stopped Markov chain) Let X = (Xj)r>0 be a Markov chain
with countable state space S and transition kernel P, let A C S and let 74 :=
inf{k > 0: X, € A} be the first entrance time of B. Let Y be the stopped process
Yy := Xgar, (B> 0). Show that Y is a Markov chain and determine its transition
kernel. If we replace 74 by the second entrance time of A, is Y then still Markov?

By definition, a random mapping representation of a probability kernel P on a
countable state space S is a probability space (F, &, 1) together with a measurable
function f : S x E — S such that if Z; is a random variable taking values in (E, £)
with law p, then

P(z,y) =P[f(x,Z1) =y]  (z,y€S9).

If (Z;)k>1 are ii.d. random variables with values in (E,£) and common law g
and X is a random variable taking values in S, independent of the (Zx)x>1, then
setting, inductively,

Xk = f(Xk—b Zk) (]f Z 1)

defines a Markov chain with transition kernel P and initial state X,. Random
mapping representations are essential for simulating Markov chains on a computer.
In addition, they have plenty of theoretical applications, for example for coupling
Markov chains with different initial states. (See Section for an introduction
to coupling.) One can show that each probability kernel has a random mapping
representation, but such a representation is far from unique. Often, the key to a
good proof is choosing the right one.

We note that it is in general not true that functions of Markov chains are themselves
Markov chains. An exception is the case when

P[f(XkJrl) € |7

depends only on f(Xj). In this case, we say that f(X) is an autonomous Markov
chain.
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Lemma 0.12 (Autonomous Markov functional) Let X = (X)ger be a Mar-
kov chain with countable state space S and transition kernel P. Let S’ be a count-
able set and let f : S — S’ be a function. Assume that there exists a probability
kernel P on S such that

P'a',y)= Y Pley) (z€S8, flx)=2).

y: fy)=y

Then f(X) = (f(Xk))ker is a Markov chain with state space S’ and transition
kernel P'.

0.6 Kernels, operators and linear algebra

Let X = (Xj)rer be a stochastic process taking values in a countable space S, and
let P be a probability kernel on S. Then it is not hard to see that X is a Markov
process with transition kernel P (and arbitrary initial law) if and only if

PXjp1 =y | Fi] = P(Xpy) as. (ye S, {kk+1} C ),
where (F{X)rer is the filtration generated by X. More generally, one has
P Xpin =y | Fi] = P"(Xy,y) as. (ye S, n>0, {k,k+n} ClI),

where P" denotes the n-th power of the transition kernel P. Here, if K, L are
probability kernels on .S, then we define their product as

KL(x,z) := ZK(w,y)L(y,z) (r,z €9),

yeS

which is again a probability kernel on S. Then K™ is defined as the product of n
times K with itself, where K°(z,y) := 1{,—,;. We may associate each probability
kernel on S with a linear operator, acting on bounded real functions f : S — R,
defined as
Kf@) =S K@iy (€9
yeSs

Then KL is just the composition of the operators K and L, and for each bounded
f S — R, one has

Elf(Xpsn) | Fi¥] = PP f(Xx) as. (n>0, {k,k+n}cI), (03)



0.7. STRONG MARKOV PROPERTY 17

and this formula holds more generally provided the expectations are well-defined
(g if E[Lf (Xpn)] < 00 or f > 0).

If 1 is a probability measure on S and K is a probability kernel on S, then we
may define a new probability measure K on S by

pE(y) ==Y p@)K(z,y)  (y€S).

z€eS

In this notation, if X is a Markov process with transition kernel P and initial law
P[Xy € -] = u, then P[X,, € -] = uP™ is its law at time n.

We may view transition kernels as (possibly infinite) matrices that act on row
vectors 1 or column vectors f by left and right multiplication, respectively.

0.7 Strong Markov property

We assume that the reader is familiar with some basic facts about Markov chains,
as taught in the lecture [LP11]. In particular, this concerns the strong Markov
property, which we formulate now.

Let X = (Xy)r>0 be a Markov chain with countable state space S and transition
kernel P. As usual, it goes without saying that X is homogeneous (i.e., we use the
same P in each time step) and when we don’t mention the initial law, we mean
the process started in an arbitrary initial law. Often, it is notationally convenient
to assume that our process X is always the same, while the dependence on the
initial law is expressed in the choice of the probability measure on our underlying
probability space.

More precisely, we assume that we have a measurable space (€2, F) and a collection
X = (Xg)r>o0 of measurable maps Xy : Q — S, as well as a collection (P*),eg of
probability measures on (2, F), such that under the measure P* the process X is
a Markov chain with initial law P*[X, = 2] = 1 and transition kernel P. In this
set-up, if 41 is any probability measure on S, then under the law PP := > ¢ u(x)P?,
the process X is distributed as a Markov chain with initial law p and transition
kernel P.

If X,P,P” are as just described and (F{¥)x>o is te filtration generated by X, then
it follows from Proposition [0.9] (ii) and homogeneity that

]P)|:(Xn+k>k20 c - ‘fr)f} = PX” [(Xk>k20 < } a.s. (04)
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Here, for fixed n > 0, we consider (X,,1x)r>0 as a random variable taking values
in SN (i.e., this is the process Y defined by Y} := X, 11 (k > 0)). Since SV is a
nice (in particular Polish) space, we can choose a regular version of the conditional
probability on the left-hand side of (0.4)), i.e., this is a random probability measure
on SN. Since X, is random, the same is true for the right-hand side. In words,
formula ((0.4]) says that given the process up to time n, the process after time n is
distributed as the process started in X,,. The strong Markov property extends this
to stopping times.

Proposition 0.13 (Strong Markov property) Let X, P, P* be as defined above.
Then, for any FiX-stopping time T such that T < oo a.s., one has

P[(Xrk)izo €+ | FX] =P [(Xi)iso € -] aus. (0.5)
Proof This follows from |[LP11, Thm 2.3]. |

Remark 1 Even if P[r = oo] > 0, formula (0.5) still holds a.s. on the event
{T < o0}.

Remark 2 Homogeneity is essential for the strong Markov property, at least in
the (useful) formulation of (0.5).

Since this is closely related to formula (0.4)), we also mention the following useful
principle here.

Proposition 0.14 (What can happen must eventually happen) Let X =
(X1 )k>0 be a Markov chain with countable state space S. Let B C SN be measurable
and set p(z) := P*[(Xy)r>0 € B]. Then the event

{(Xntk)k>0 € B for infinitely many n >0} U {p(X,) — 0}

n—oo

has probability one.

Proof Let A denote the event that (X, x)k>0 € B for some n > 0. Then by
Proposition
p(Xn) = P [(Xk)kzo € B} = P[(Xn+k)k20 €B ‘ ff}
<P[A|FS] — P[A|FL] =14 as.

In particular, this shows that p(X,) — 0 a.s. on the event A. Applying the same
argument to A, = {(X,nix)r>0 € B for some n > m}, we see that the event
A, U{p(X,) — 0} has probability one for each m. Letting m T oo and observing
that A, | {(Xnik)k>0 € B for infinitely many n > 0}, the claim follows. |
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0.8 Classification of states

Let X be a Markov chain with countable state space S and transition kernel P.
For each =,y € S, we write © ~» y if P"(z,y) > 0 for some n > 0. Note that
x ~> y ~» z implies © ~» z. Two states x,y are called equivalent if x ~» y and
y ~» x. It is easy to see that this defines an equivalence relation on S. A Markov
chain / transition kernel is called irreducible if all states are equivalent.

A state z is called recurrent if
P*[ Xy = « for some k > 1] =1,

otherwise it is called transient. If two states are equivalent and one of them is
recurrent (resp. transient), then so is the other. Fix = € S| let 75 := 0 and let

7, = inf{n > 7,1 : X,, = z} (k>1)

be the times of the k-th visit to x after time zero. Consider the process started
in Xg = x. If z is recurrent, then 7 < oo a.s. It follows from the strong Markov
property that 7 — 7 is equally distributed with and independent of 7. By induc-
tion, (7% — Tk—1)k>1 are i.i.d. In particular, 7, < oo for all £ > 1, i.e., the process
returns to z infinitely often.

On the other hand, if x is transient, then by the same sort of argument we see
that the number N, = ", 1{x,—s) of returns to x is geometrically distributed

P*IN, =n|=0"(1—-0) where 60:=P"[X}; =z for some k > 1].
In particular, E*[N,] < oo if and only if x is transient.

Lemma 0.15 (Recurrent classes are closed) Let X be a Markov chain with
countable state space S and transition kernel P. Assume that S" C S is an equiv-
alence class of recurrent states. Then P(z,y) =0 for allx € S’, y € S\S'.

Proof Imagine that P(z,y) > 0 for some x € S’, y € S\S’. Then, since 5’ is
an equivalence class, y v~ x, i.e., the process cannot return from y to x. Since
P(z,y) > 0, this shows that the process started in z has a positive probability
never to return to x, a contradiction. |

A state x is called positively recurrent if

E®[inf{n > 1: X, = z}] < c0.
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Recurrent states that are not positively recurrent are called null recurrent. If two
states are equivalent and one of them is positively recurrent (resp. null recurrent),
then so is the other. From this, it is easy to see that a finite equivalence class of
states can never be null recurrent.

The following lemma is an easy application of the principle ‘what can happen must
happen’ (Proposition [0.14)).

Lemma 0.16 (Finite state space) Let X = (Xy)r>0 be a Markov chain with
finite state space S and transition kernel P. Let Syos denote the set of all positively
recurrent states. Then P[X}), € Spos for some k > 0] = 1.

By definition, the period of a state z is the greatest common divisor of {n > 1 :
P(z,z) > 0}. Equivalent states have the same period. States with period one are
called aperiodic. Irreducible Markov chains are called aperiodic if one, and hence
all states have period one. If X = (Xj)r>o is an irreducible Markov chain with
period n, then X, := Xy, (k > 0) defines an aperiodic Markov chain X’ = (X},)x>o.

The following example is of special importance.

Lemma 0.17 (Recurrence of one-dimensional random walk) The Markov
chain X with state space Z and transition kernel P(k,k —1) = P(k,k+1) = 5 is
null recurrent.

Proof Note that this Markov chain is irreducible and has period two, as it takes
value alternatively in the even and odd integers. Using Stirling’s formula, it is not

hard to show that (see [LP11, Example 2.9])

1
P2*(0,0) ~ —— as k — 00.
7 vk

In particular, this shows that the expected number of returns to the origin E°[Ny] =
S oo P?%(0,0) is infinite, hence X is recurrent. On the other hand, it is not hard to
check that any invariant measure for X must be infinite, hence X has no invariant
law, so it cannot be positively recurrent. |

We will later see that, more generally, random walks on Z% are recurrent in dimen-
sions d = 1,2 and transient in dimensions d > 3.
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0.9 Invariant laws

By definition, an invariant law for a Markov process with transition kernel P and
countable state space S is a probability measure p on S that is invariant under
left-multiplication with P, i.e., uP = u, or, written out per coordinate,

> uy)Ply.z) =px) (zeS).

yes

More generally, a (possibly infinite) measure p on S satisfying this equation is
called an invariant measure. A probability measure p on S is an invariant law
if and only if the process (Xj)ir>o started in the initial law P[X, € -] = p is
(strictly) stationary. If p is an invariant law, then there also exists a stationary
process X = (X})rez, unique in distribution, such that X is a Markov process with
transition kernel P and P[X} € -| = p for all k € Z (including negative times).

A detailed proof of the following theorem can be found in [LP11, Thms 2.10 and
2.26.

Theorem 0.18 (Invariant laws) Let X be a Markov chain with countable state
space S and transition kernel P. Then

(a) If p is an invariant law and x is not positively recurrent, then u(x) = 0.

(b) If " C S is an equivalence class of positively recurrent states, then there
exists a unique invariant law p of X such that p(x) > 0 for all x € S" and
pu(x) =0 for all x € S\S".

(c) The invariant law p from part (b) is given by

p(z) =E*[inf{k >1: X, = x}rl. (0.6)

Sketch of proof For any = € S, define p(x) as in (0.6)), with 1/00 := 0. Since
consecutive return times are i.i.d., it is not hard to prove that

lim 1 ZIP’”C[Xk = z| = p(z), (0.7)

n—oo N,

i.e., the process started in = spends a p(z)-fraction of its time in x. As a result, it
is not hard to show that if x is transient or null-recurrent, then the process started
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in any initial law satisfies P[.X,, = ] — 0 for n — oo, hence no invariant law can
give positive probability to such a state.

On the other hand, if S” C S is an equivalence class of positively recurrent states,
then one can check that (0.7]) holds more generally for the process started in any
initial law on S’. It follows that for any such process, the Césaro-limit

1 n
p= lim HZP[X’“ €]
k=1

exists and does not depend on the initial law. In particular, if we start in an
invariant law, then this limit must be p, which proves uniqueness. It is not hard
to check that any such Césaro-limit must be an invariant law, from which we obtain
existence. |

Remark Using Lemma [0.15] it is not hard to prove that a general invariant law
of the process is a convex combination of invariant laws that are concentrated on
one equivalence class of positively recurrent states.

Theorem 0.19 (Convergence to invariant law) Let X be an irreducible, pos-
wwely recurrent, aperiodic Markov chain with invariant law . Then the process
started in any nitial law satisfies

P[Xy = 2] — u(x) (x €9).

If all states of X are transient or null recurrent, then the process started in any
mitial law satisfies
PXy=2] — 0 (x €9).

k—o0

Proof See [LP11, Thm 2.26]. |

If p is an invariant law and X = (X )rez is a stationary process such that P[X} €
-] = p for all k € Z, then by the symmetry of the Markov property w.r.t. time
reversal, the process X' = (X} )rez defined by X; = X, (k € Z) is also a
Markov process. By stationarity, X’ is moreover homogeneous, i.e., there exists
a transition kernel P’ such that the transition probabilities P, , of X' satisfy
P(z,y) = P, (7,y) for ae. x wrt. g In general, it will not be true that
P’ = P. We say that u is a reversible law if p is invariant and in addition,
the stationary processes X and X' are equal in law. One can check that this is
equivalent to the detailed balance condition

wx)P(z,y) = Plx,y)uly)  (v,y €5),



0.9. INVARIANT LAWS 23

which says that the process X started in P[X, € -| = pu satisfies P[ Xy =z, X; =
y] = P[Xo = y, X1 = z]. More generally, a (possibly infinite) meaure g on S
satisfying detaied balance is called an reversible measure. If 1 is reversible measure
and we define a (semi-) inner product of real functions f : S — R by

(f9)n = f@)g(a)u(x),

€S

then P is self-adjoint w.r.t. this inner product:

<f7Pg>,u: <Pfag>ﬂ
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Chapter 1

Eigenfunctions

1.1 Harmonic functions

Let X be a Markov chain with countable state space S and transition kernel P.
As we have seen, an invariant law of X is a vector that is invariant under left-
multiplication with P. Harmonic functions[[| are functions that are invariant
under right-multiplication with P. More precisely, we will say that a function
h:S — R is subharmonic for X if

Y Playlhy) <o (zeS9),

and

ha) <3 Playhly) (@€ S).

We say that h is superharmonic if —h is subharmonic, and harmonic if it is both
subharmonic and superharmonic.

Lemma 1.1 (Harmonic functions and martingales) Assume that h is sub-
harmonic for the Markov chain X = (Xg)k>0 and that E[|h(Xy)|] < oo (k > 0).
Then My, := h(Xy) (k > 0) defines a submartingale M = (M (Xg))k>o w.r.t. to the
filtration (FiX )0 generated by X.

Historically, the term harmonic function was first used, and is still commonly used, for a
smooth function f : U — R, defined on some open domain U C R?, that solves the Laplace
equation Z?:l 8%2 f(z) = 0. This is basically the same as our definition, but with our Markov
chain X replaced by Brownian motion B = (By):>0. Indeed, a smooth function f solves the
Laplace equation if and only if (f(B;)):>0 is a local martingale.

25
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Proof This follows by writing (using (0.3))),

E[h(Xei) | F¥] =D P(Xep)h(y) > h(Xi) (k> 0).

We will say that a state x is an absorbing state or trap for a Markov chain X if
P(x,z) =1.

Lemma 1.2 (Trapping probability) Let X be a Markov chain with countable
state space S and transition kernel P, and let z € S be a trap. Then the trapping
probability

h(z) :=P*[ X = z for some k > 0]

18 a harmonic function for X.

Proof Since 0 < h < 1, integrability is not an issue. Now
h(z) = P*[X}, = z for some k > 0]
= P"[X; = z for some k > 0| X; = y]|P"[X; =y

= ZP(x,y)IF”” [X), = 2 for some k > 0] = ZP(SL’,y)h(y)-

Lemma 1.3 (Trapping estimates) Let X be a Markov chain with countable
state space S and transition kernel P, and let T := {z € S : z is a trap}. Assume
that the chain gets trapped a.s., i.e., P[3n > 0 s.t. X,, € T] =1 (regardless of the
initial law). Let z € T and let h : S — [0, 1] be a subharmonic function such that
hz)=1and h =0 on T\{z}. Then

h(z) < P* [Xk =z for some k > 0}

If h is superharmonic, then the same holds with the inequality sign reversed.

Proof Since h is subharmonic, My := h(Xj) is a submartingale. Since h is
bounded, M is uniformly integrable. Therefore, by Propositions [0.7 and [0.8]
M, — My a.s. and in Li;-norm, where M, is some random variable such that
E*[M] > My = h(x). Since the chain gets trapped a.s., we have M, = h(X,),
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where 7 := inf{k > 0 : X}, € T'} is the trapping time. Since h(z) =1 and h =0
on T\{z}, we have M, = 1(x, - and therefore P*[X, = 2] = E*[M] > h(z). If
h is superharmonic, the same holds with the inequality sign reversed. n

Remark 1 If S C S is a ‘closed’ set in the sense that P(x,y) = 0 for all x € 5,
y € S\9’, then define ¢ : S — (S\S") U {*} by ¢(z) ;= if v € S" and ¢(z) = x
if x € S\S'. Now (¢(Xg))k>0 is @ Markov chain that gets trapped in * if and only
if the original chain enters the closed set S’. In this way, Lemma |l1.3| can easily be
generalized to Markov chains that eventually get ‘trapped’ in one of finitely many
equivalence classes of recurrent states. In particular, this applies when S is finite.

Remark 2 Lemma tells us in particular that, provided that the chain gets
trapped a.s., the function h from Lemma [1.2| is the unique harmonic function
satisfying h(z) = 1 and h = 0 on T\{z}. For a more general statement of this
type, see Exercise below.

Remark 3 Even in situations where it is not feasable to calculate trapping prob-
abilities exactly, Lemma can sometimes be used to derive lower and upper
bounds for these trapping probabilities.

The following transformation is usually called an h-transform or Doob’s h-trans-
form.  Following [LPW09], we will simply call it a Doob transformf]

Lemma 1.4 (Doob transform) Let X be a Markov chain with countable state
space S and transition kernel P, and let h : S — [0,00) be a nonnegative harmonic
function. Then setting S’ :== {x € S : h(x) > 0} and

P(z,y) = W (r,y €9

defines a transition kernel P" on S'.

Proof Obviously P"(z,y) > 0 for all z,y € S’. Since

S P(a,y) = h(2) 'Y Pla,y)h(y) = h(z) ' Phiz) =1 (v € ),

yes’ yes’

P" is a transition kernel. [ |

2The term h-transform is somewhat inconvenient for several reasons. First of all, having
mathematical symbols in names of chapters or articles causes all kinds of problems for referencing.
Secondly, if one performs an h-transform with a function g, then should one speak of a g-transform
or an h-transform? The situation becomes even more confusing when there are several functions
around, one of which may be called h.
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Proposition 1.5 (Conditioning on the future) Let X = (Xj)i>o be a Markov
chain with countable state space S and transition kernel P, and let x € S be a
trap. Set S":={y € Sy~ x} and assume that P[ Xy € S"] > 0. Then, under the
conditional law

P[(X%)k>0 € - {X;C = x for some k > 0},

the process X is a Markov process in S" with Doob-transformed transition kernel
P where

h(z) .= P* [Xk =x for some k > O]
satisfies h(x) > 0 if and only if x € 5.

Proof Using the Markov property (in its strong form ((0.4))), we observe that

]P)[Xn—&-l =Y ‘ (Xk)ggkgn = (I‘k)ogkgm Xk =X fOI‘ some k Z 0}
= P[Xn-i-l =Y | (Xk>0§k§n = (xk)0§k§n7 Xk = z for some k Z n -+ 1}
_ P[Xn+1 =y, Xy =uxforsome k>n+1 | (Xk)o<k<n = (mk)OSkgn}

P Xk = ¢ for some k Z n+1 | (Xk>0§k§n = ($k)0§k§n}
P(z,,y)PY[ X} = z for some k >0 Ph( )
= —= xn’
Pzn [ X}, = « for some k > 1] Y

—

for each (xy)o<k<n and y such that P[(Xy)o<k<n = (Tk)o<k<n] > 0 and z,,,y € S’.N

Remark At first sight, it is surprising that conditioning on the future may preserve
the Markov property. What is essential here is that being trapped in x is a tail
event, i.e., an event measurable w.r.t. the tail-o-algebra 7 := (), ., Fi . Similarly,
if we condition a Markov chain (X} )o<g<, that is defined on finite time interval
on its final state X,,, then under the conditional law, (Xj)o<r<n is still Markov,
although no longer homogeneous.

Exercise 1.6 (Sufficient conditions for integrability) Let h : S — R be any
function. Assume that E[|h(X()|] < oo and there exists a constant K < oo such
that >, P(x,y)|h(y)| < K|h(z)|. Show that E[|h(X})[] < oo (k> 0).

Exercise 1.7 (Boundary conditions) Let X be a Markov chain with countable
state space S and transition kernel P, and let T := {z € S : z is a trap}. Assume
that the chain gets trapped a.s., ie., P[On > 0s.t. X,, € T] = 1 (regardless
of the initial law). Show that for each real function ¢ : 7" — R there exists a
unique bounded harmonic function h : S — R such that h = ¢ on T'. Hint: take
h(x) := E[¢p(X,)], where 7 := inf{k > 0 : X} € T'} is the trapping time.
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Exercise 1.8 (Conditions for getting trapped) If we do not know a priori that
a Markov chain eventually gets trapped, then the following fact is often useful. Let
X be a Markov chain with countable state space S and transition kernel P, and
let h: S — [0,1] be a sub- or superharmonic function. Assume that for all € > 0
there exists a 0 > 0 such that

P [|h(X1) — h(z)| > 6] > 6 whenever e < h(z) <1—e.

Show that limy_ h(X%) € {0,1} a.s. Hint: use martingale convergence to prove
that limy_ h(X}) exists and use the principle ‘what can happen must happen’
(Proposition [0.14)) to show that the limit cannot take values in (0, 1).

Exercise 1.9 (Trapping estimate) Let X, S,, P and h be as in Excercise [L.8
Assume that h is a submartingale and there is a point z € S such that h(z) = 1
and sup,cq (3 M(z) < 1. Show that

h(z) < P*[X} = z for some k > 0].

Exercise 1.10 (Compensator) Let X = (X})g>0 be a Markov chain with count-
able state space S and transition kernel P, and let f : S — R be a function such
that > P(z,y)|f(y)| < oo for all z € S. Assume that, for some given initial law,
the process X satisfies E[| f(X)|] < oo for all £ > 0. Show that the compensator

of (f(Xk))r>0 is given by

i
L

Ko=) (Pf(Xy) = f(Xp)  (n>0).

i

Exercise 1.11 (Expected time till absorption: part 1) Let X be a Markov
chain with countable state space S and transition kernel P, and let T':= {z € S :
zis a trap}. Let 7 :=inf{k > 0: X} € T} and assume that E*[r < oo] < oo for
all z € §. Show that the function

f(z) == E*[1 < o0

satisfies Pf(x) — f(x) = =1 (x € S\T) and f =0 on T.
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Exercise 1.12 (Expected time till absorption: part 2) Let X be a Markov
chain with countable state space S and transition kernel P, let T':= {z € S :
z is a trap}, and set 7 := inf{k > 0 : X, € T}. Assume that f : S — [0,00)
satisfies Pf(x) — f(z) < —1 (z € S\T') and f =0 on 7. Show that

E°[r < o0] < f(x) (x €09).
Hint: show that the compensator K of (f(X}))r>o satisfies K,, < —(n A T).
Exercise 1.13 (Absorption of random walk) Consider a random walk W =
(Wk)k>0 on Z that jumps from z to = + 1 with probability p and to z — 1 with
the remaining probability ¢ := 1 — p, where 0 < p < 1. Fix n > 1 and set

T = inf{k‘ >0:W, e {O,n}}. Calculate, for each 0 < x < n, the probability
PW, = n].

Exercise 1.14 (First ocurrence of a pattern: part 1)

Let (X%)k>o be ii.d. Bernoulli random variables

with P[X, = 0] = P[X; = 1] = 1 (k > 0). Set 1000 |
110 = inf {k > 0: (Xp, Xpp1, Xpi2) = (1,1,0) },

100 001
and define 7919 similarly. Calculate P[1919 < T110]- A
Hint: Set X; := (Xi, Xpr1, Xigo) (K > 0). Then
()?k)kzo is a Markov chain with transition prob- 010
abilities as in the picture on the right. Now the A

problem amounts to calculating the trapping prob-
abilities for the chain stopped at 7919 A T110.

Exercise 1.15 (First ocurrence of a pattern: part 2) In the set-up of the
previous exercise, calculate E[r19] and E[r11]. Hints: you need to solve a system



1.2. RANDOM WALK ON A TREE 31

of linear equations. To find the solution, it helps to use Theorem (c) and the
fact that the uniform distribution is an invariant law. In the case of 711, it also
helps to observe that E*[ry1;] depends only on the number of ones at the end of z.

1.2 Random walk on a tree

In this section, we study random walk on an infinite tree in which every vertex has
three neighbors. Such random walks have many interesting properties. At present
they are of interest to us because they have many different bounded harmonic
functions. As we will see in the next section, the situation for random walks on
Z¢ is quite different.

Let Ty be an infinite tree, (i.e., a connected graph without cycles) in which each
vertex has degree 3 (i.e., there are three edges incident to each vertex). We will be
interested in the Markov chain whose state space are the vertices of Ty and that
jumps in each step with equal probabilities to one of the three neighboring sites.

We first need a convenient way to label vertices in such a tree. Consider a finitely
generated group with generators a,b, ¢ satisfying a = a™*, b = b=! and ¢ = ¢7L.
More formally, we can construct such a group as follows. Let G be the set of all
finite sequences x = x(1) - - - x(n) where n > 0 (we allow for the empty sequence
0), z(i) € {a,b,c} for all 1 <i<n,and z(i) Zx(i+1) forall 1 <i<i4+1<n.
We define a product on V' by concatenation, where we apply the rule that any two
a’s, b’s or ¢’s next to each other cancel each other, inductively, till we obtain an
element of GG. So, for example,

(abacb)(cab) = abacbcab,  (abacb)(bab) = abacbbab = abacab,
and  (abacb)(becb) = abacbbch = abacch = abab.

With these rules, G is a group with unit element (), the empty sequence, and
inverse (z(1)---z(n))™! = x(n)---x(1). Note that G is not abelian, i.e., the
group product is not commutative.

We can make G into a graph by drawing an edge between two elements z,y € G
if v = ya, v = yb, or x = yc. It is not hard to see that the resulting graph
is an infinite tree in which each vertex has degree 3; see Figure [I.II We let
|| = |x(1)---x(n)| := |n| denote the length of an element z € G. It is not
hard to see that this is the same as the graph distance of x to the ‘origin’ (, i.e.,
the length of the shortest path connecting z to ().
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Figure 1.1: The regular tree Ty

Let X = (Xy)r>o0 be the Markov chain with state space G and transition proba-
bilities 1

P(z,za) = P(x,zb) = P(x,xc) = 3 (x € G),
i.e., X jumps in each step to a uniformly chosen neighboring vertex in the graph.

We call X the nearest neighbor random walk on G.

We observe that if X is such a random walk on G, then |X| = (|Xg|)k>0 is a
Markov chain with state space N and transition probabilities given by

1 2
Q(n,n—1):= 3 and Q(n,n+1):= 3 (n>1),
and Q(0,1) := 1.
For each z = z(1)---z(n) € G, let us write (i) := 0 if i« > n. The following
lemma shows that the random walk X is transient and walks away to infinity in a
well-defined ‘direction’.
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Lemma 1.16 (Transience) Let X be the random walk on G described above,
started in any initial law. Then there exists a random variable X, € {a,b,c}™+
such that

lim X, (i) = Xoo(i) a.s. (1€ Ny).

n—oo

Proof We may compare | X| to a random walk Z = (Zj)x>0 on Z that jumps from
n ton — 1 or n+ 1 with probabilities 1/3 and 2/3, respectively. Such a random
walk has independent increments, i.e., (Zy — Zx_1)k>1 are i.i.d. random variables
that take the values —1 and 41 with probabilities 1/3 and 2/3. Therefore, by the
strong law of large numbers, (Z, — Zy)/n — 1/3 a.s. and therefore Z,, — oo a.s.
In particular Z visits each state only finitely often, which shows that all states are
transient. It follows that the process Z started in Z; = 0 has a positive probability
of not returning to 0. Since Z,, — oo a.s. and since | X| has the same dynamics as
Z as long as it is in N, this shows that the process started in Xy = a satisfies

P*| Xy > 1VE>1] =P'[Z, > 1VEk > 1] > 0.

This shows that a is a transient state for X. By irreducibility, all states are
transient and |X;| — oo a.s., which is easily seen to imply the lemma. |

We are now ready to prove the existence of a many bounded harmonic functions
for the Markov chain X. Let

0G = {z € {a,b,c}"* (i) #x(i + 1) Vi > 1}.

Elements in 0G correspond to different ways of walking to infinity. Note that 0G
is an uncountable set. In fact, if we identify elements of G with points in [0, 1]
written in base 3, then 0G corresponds to a sort of Cantor set. We equip G with
the product-o-field, which we denote by B(0G). (Indeed, one can check that this
is the Borel-o-field associated with the product topology.)

Proposition 1.17 (Bounded harmonic functions) Let ¢ : G — R be bounded
and measurable, let X be the random walk on the tree G described above, and let
Xoo be as in Lemma[1.16. Then

h(z) :==E*[¢(Xo0)] (r € G)

defines a bounded harmonic function for X. Moreover, the process started in an
arbitrary initial law satisfies

hMX,) — 6(Xs) as.

n—oo



34 CHAPTER 1. EIGENFUNCTIONS

Proof It follows from the Markov property (in the form (0.4))) that

h(z) = E°[9(Xoo)] = Y P2, y)B[0(Xo)] = ) Plz,y)hly) (v €Q),
Yy Yy
which shows that h is harmonic. Since |||l < ||¢||oo, the function h is bounded.
Moreover, by (0.4) and Proposition ,

WXn) = B [6(Xoo)] = E[p(Xoo) | Fi] — E[$(Xoo) [ Fe] = $(Xs)  as.

n—oo

Figure 1.2: A bounded harmonic function

For example, in Figure [1.2] we have drawn a few values of the harmonic function
h(z) :=P*[ X (1) = d] (x € G).

Although Proposition [1.17] proves that each bounded measurable function ¢ on
0G yields a bounded harmonic function for the process X, we have not actually
shown that different ¢’s yield different h’s.
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Lemma 1.18 (Many bounded harmonics) Let p be the probability measure
on 0G defined by p:=PY[ X, € -]. Let ¢,7) : 0G — R be bounded and measurable

and let
h(z) :=E"[¢p(Xs)] and g(z) :=E"[¢(X)] (x € G).

Then h = g if and only if = a.s. w.r.t. p.

Proof Let us define more generally p, = P*[X, € -]. Since

pa(A) = P"(x,2)P*[Xo € -] < P™(2,y) 1y (A)

(x,y € G, n >0, A€ B(0G)) and P is irreducible, we see that p, < g, for all
z,y € G, hence the measures (p,).cq are all equivalent. Thus, if ¢ = ¢ a.s. w.r.t.
1, then they are a.s. equal w.r.t. to u, for each x € GG, and therefore

) = [ ot = [ vt =g0) (G

On the other hand, if the set {¢ # ¢} has positive probability under u, then by

Proposition
P'[ lim h(X,) # lim g(X,)] >0,

n—oo n—oo

which shows that there must exist x € G with h(z) # g(z). |

Exercise 1.19 (Escape probability) Let Z = (Z;)i>0 be the Markov chain
with state space Z that jumps in each step from n to n — 1 with probability 1/3
and to n + 1 with probability 2/3. Calculate P'[Z;, > 1 Vk > 0]. Hint: find a
suitable harmonic function for the process stopped at zero.

Exercise 1.20 (Independent increments) Let (Y})r>; be i.i.d. and uniformly
distributed on {a, b, c¢}. Define (X,,),>0 by the random group product (in the group
G)

X, =YY, (n>1),

with X, := (0. Show that X is the Markov chain with transition kernel P as defined
above.
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1.3 Coupling

For any = = (z(1),...,2(d)) € Z4, let |z|; := max?_, |x(i)| denote the ‘L;-norm’
of z. Set A := {z € Z: |z|; = 1}. Let (Yj)r>1 be i.i.d. and uniformly distributed
on A and let

Xp=> Y (n>1),
k=1

with X, := 0. (Here we also use the symbol 0 to denote the origin 0 = (0,...,0) €
Z2.) Then, just as in Excercise , X is a Markov chain, that jumps in each time
step from its present position x to a uniformly chosen position in x + A = {x +y :
y € A}. We call X the nearest neighbor random walk on the integer lattice Z°.
Sometimes X is also called simple random walk.

Let P denote its transition kernel. We will be interested in bounded harmonic
functions for P. We will show that in contrast to the random walk on the tree,
the random walk on the integer lattice has very few bounded harmonic functions.
Indeed, all such functions are constant. We will prove this using coupling, which
is a technique of much more general interest, with many applications.

Usually, when we talk about a random variable X (which may be the path of a
process X = (Xj)r>0), we are not so much interested in the concrete probability
space (2, F,P) that X is defined on. Rather, all that we usually care about is
the law P[X € -] of X. Likewise, when we have in mind two random variables X
and Y (for example, one binomially and the other normally distributed, or X and
Y may be two Markov chains with possibly different initial states or transition
kernels), then we usually do not a priori know what their joint distribution is,
even if we know there individual distributions. A coupling of two random variables
X and Y, in the most general sense of the word, is a way to construct X and
Y together on one underlying probability space (2, F,P). More precisely, if X
and Y are random variables defined on different underlying probability spaces,
then a coupling of X and Y is a pair of random variables (X', Y”) defined on one
underlying probability space (€2, F,P), such that X’ is equally distributed with X
and Y’ is equally distributed with Y. Equivalently, since the laws of X and Y
are all we really care about, we may say that a coupling of two probability laws
i, v defined on measurable spaces (E, &) and (F, F), respectively, is a probability
measure p on the product space (E x F,E ® F) such that the first marginal of p
is u and its second marginal is v.

Obviously, a trivial way to couple any two random variables is to make them
independent, but this is usually not what we are after. A typical coupling is
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designed to compare two random variables, for example by showing that they are
close, or one is larger than the other. The next excercise gives a simple example.

Exercise 1.21 (Monotone coupling) Let X be uniformly distributed on [0, A]
and let Y be exponentially distributed with mean (A > 0). Show that X and
Y can be coupled such that X < Y a.s. (Hint: note that this says that you
have to construct a probability measure on [0, A] x [0, 00) that is concentrated on
{(z,y) : * < y} and has the ‘right’ marginals.) Use your coupling to prove that
E[X*] <E[Y?] for all & > 0.

Now let A C Z? be as defined at the beginning of this section and let P be the
transition kernel on Z? defined by

1
P(m,y) = Zgl{y—xEA} (:c,yEZd).

We are interested in bounded harmonic functions for P, i.e., bounded functions
h:Z¢ — R such that Ph = h. It is somewhat inconvenient that P is aperiodicf]
In light of this, we define a ‘lazy’ modification of our transition kernel by

Plazy(xv y) = %P(Z‘, y) + %1{x:y}

Obviously, Ba.y f = %P f+ % f, so a function h is harmonic for P if and only if it
is harmonic for Pg,y.

Proposition 1.22 (Coupling of lazy walks) Let X* and XV be two lazy random
walks, i.e., Markov chains on Z% with transition kernel Py, and initial states
X¢=xzand X§ =y, v,y € Z°. Then X® and XY can be coupled such that

In>0st Xf=X] Vk>n as.

Proof We start by choosing a suitable random mapping representation. Let
(Uk)k>1, (Ik)k>1, and (Wy)k>1 be collections of i.i.d. random variables, each collec-
tion independent of the others, such that for each & > 1, Uy, is uniformly distributed
on {0, 1}, I is uniformly distributed on {1, ..., d}, and W}, is uniformly distributed
on {—1,+1}. Let e; € Z% be defined as €;(j) := 1—;3. Then we may construct
X? inductively by setting X := x and

X,f = le—l + Uka@]k (k) Z 1)

3Indeed, the Markov chain with transition kernel P takes values alternatively in Z< = {z €

AR 2?21 x(i) is even} and Z4,, := {z € Z* : Zle x(7) is odd}.
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Note that this says that U, decides if we jump at all, I, decides which coordinate
jumps, and W, decides whether up or down.

To construct also X¥ on the same probability space, we define inductively X :=y
and

Yy : Yy x
X~ { X+ (= U)Wyer, it Xi (L) # Xi_ (), k> 1)

Xlg—l -+ Ukaefk if Xlzc/—l(lk) = X,f_1<[k),

Note that this says that X* and XY always select the same coordinate [, €
{1,...,d} that is allowed to move. As long as X* and XV differ in this coor-
dinate, they jump at different times, but after the first time they agree in this
cordinate, they always increase or decrease this coordinate by the same amount at
the same time. In particular, these rules ensure that

Xip(i)=XJ(i) forall k> 7 :=inf{n>0: X (i) = XJ(i)}.

Since (X[, X})k>o0 is defined in terms of i.i.d. random variables (Uy, Iy, W)r>1
by a random mapping representation, the joint process (X%, XV) is clearly a
Markov chain. We have already seen that X?, on its own, is also a Markov
chain, with the right transition kernel P,,,. It is straightforward to check that
PX) = 2| (XE, XY)] = Pasy(XY, 2) a.s. In particular, this transition probability
depends only on X}, hence by Lemma m, XY is an autonomous Markov chain
with transition kernel A,,y.

In view of this, our claim will follow provided we show that 7; < oo a.s. for each
t=1,...,d. Fix i and define inductively oy := 0 and

o = inf{k > o1 : [, = i}.
Consider the difference process

Dy = X: — X! (k>0).

Then D = (Dy)g>o is a Markov process on Z that in each step jumps from z to
241 or z — 1 with equal probabilities, except when it is in zero, which is a trap.
In other words, this says that D is a simple random walk stopped at the first time
it hits zero. By Lemma [0.17] there a.s. exists some (random) k& > 0 such that
D;, = 0 and hence 1; = 0, < 00 a.s. [ |

As a corollary of Proposition [1.22] we obtain that all bounded harmonic functions
for nearest-neighbor random walk on the d-dimensional integer lattice are constant.
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Corollary 1.23 (Bounded harmonic functions are constant) Let P(z,y) =
(2d) '1qjo—yp=1y be the transition kernel of nearest-neighbor random walk on the
d-dimensional integer lattice Z¢. If h : Z¢ — R is bounded and satisfies Ph = h,
then h is constant.

Proof Couple X¥ and X? as in Proposition Since h is harmonic and bounded,
(h(X}))k>0 and (A(XY))k>o are martingales. It follows that

h(x) = h(y) = E[A(X})] — E[A(X])]
= E[A(X5) = h(X})] < 2[[hllPIXE # Xi] — 0

~—

for each z,y € Z¢, proving that h is constant. |
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